Subject: Re: demand for FP satisfied - modern methods - calculate indicator
Posted by geoK on Fri, 10 Aug 2018 15:19:58 GMT

View Forum Message <> Reply to Message

Thank you for your kind reply. The CDR 2013 dataset already includes v626a variable.

| was wondering about indicator: % of demand satisfied - which i can't see in the survey-specific
code provided on the Unmet Need page.

| can see the definition on statcompiler - which sounds easy to do, but for some reasons | get
different %

"Percentage of demand for family planning satisfied by modern methods is calculated as the
number of currently married women using modern methods of family planning divided by the
number of currently married women with demand for family planning (either with unmet need or
currently using any family planning)".

| am probably doing something different than what i should do.

May | please ask if all you do is to take as numerator: number of currently married women using
modern methods

and denominator: number of currently married women with unmet need? Or currently using any
FP?

thank you again.
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